CD-ID: Narex CZ 2018_v18r01

65404754 - EBU 23-26 A

Page 1 from 3

12.03.2018



65404754 - EBU 23-26 A

CD-ID: Narex CZ 2018_v18r01

Position | Part No. Qty. [Name Type :escriptio g::’ Rl
6 66632811 1| Spindle EBU 23-26 CA
7 632820 1| Safety ring SW 16
8 614859 4| Screw M5x16
9 66635650 1| Bearing cover EBU 23 G
10 66630672 1| Passscheibe EBU 18 D-A
11 66591316 3 | Passscheibe EBU 18-E2
12 615026 1|Ring 80x2
13 594455 1| Packing ring EBU 18-E2
14 66632815 1| Bearing 6203 LLU V C3 V2 L39-4
15 623325 3| Screw M4x12
16 66621974 1|Plug EBU 23 F-A
17 65404707 1| Gear EBU 23-26
18 632812 2 | Spring resort 13.2x18.8x0.3
19 632813 1| Safety ring A 13 DIN 471
20 66614897 1| Needle sleeve HK 0912
21 65403556 1| Gearbox EBU 23-26 A
22 630767 4| Screw 5x37 ECO-SYN 625547
23 614481 1| Safety ring DIN 471-6x0,7 430900
24 615243 1|Ring 6x1
25 591286 1| Washer EBU 12
26 66595478 1| Spring EBU 12
27 66621581 1| Blocking pin EBU 23 F-A Uplny
28 614472 1| Nut M8x1
30 66632975 1| Sealing EBU 23-26 CA
31 66592896 1| Passscheibe EN 35 B/B
32 66614869 1| Bearing 6202 2RSTTN9 GWF4VP178
33 632823 1| Washer 25x35x2
34 632822 1| Safety ring 36 JL
35 66631300 1| Balanced rotor EBU 23-26 CA 230V
36 66619622 1| Bearing 629 2RSH C3 LHT 23
37 66775630 1| Lagerbuchse EBU 18 C-A
39 65403557 1| Brush holder; set 2 pcs. EBU 23-26 A
40 625697 13 | Screw 4x16 ECO-SYN BN 84229 429872
41 66591401 4| Clamp EBU 18-E2
42 65403558 1| Stator EBU 23-26 A
43 66632974 2 | Conductor EBU 23-26 CA
44 65404753 1| Motor box EBU 23-24
45 66632559 1| Plug EBU 23-26 CA
46 66622192 1| Brush holder EBU 18 C-A 620639
47 65403559 1| Brush holder; set 2 pcs. EBU 23-26 A
48 65403575 2 | Screw M4x8 TAPT. K.TORX
49 66779826 2 | Cover EBU 23-26 CA
51 65403560 1| Switch RIMEX
12.03.2018

Page 2 from 3




65404754 - EBU 23-26 A

CD-ID: Narex CZ 2018_v18r01

Position | Part No. Qty. |[Name Type :escriptio g::’ Rl
52 66615164 1| Clamp Eisele 1 601 302 018
53 65403561 1| Isolation EBU 23-26 A
56 65403562 1 |Handle EBU 23-26 A
57 66632829 1| Spring EBU 23-26 CA
58 66779822 1 |Lever EBU 23-26 CA
59 66628244 1| Cord HO7 RN-F EURO 4m
60 66630328 1| Sleeve EBU 23 F-A
61 66779841 1| Auto - balancing unit EBU 23-26 CA
12.03.2018 Page 3 from 3



